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Slope Intercept Test

Graph the following.

1.  y = x – 3



2.  y = ½ x + 6


3.  y = -2x
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Identify the slope and y intercept in each equation.

4.  y = 7x – 2





5. y = -8x + 1
slope_________





slope_________

y intercept________ 




y intercept________

Write the equation of the line using the given information.
6.                                                      7.     
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8. Prissy’s Pizza charges $13.00 for a large cheese pizza plus $1.25 per topping. Write an equation for the cost of buying a large pizza with x toppings. 
9. The TV repairman charges $50 to come out to your house and check the TV plus $20 per hour for labor. Write an equation to find  the cost of repairing a TV.
10.  slope = 4, y-intercept = -7

11.  slope = -2/5, y-intercept = -9
          12.  m = 1/3, (9, 2)
13.  m = 4, (7, 6)


              14.  m = 0, (-2, 7)
                                       15.  m = 1/5, (-10, -2)


16.  m = ¾, (8, -7)


17.  (-1, -9), (7, 23)

          18.  (0, 2), (1, -1)
19.  (9, -6), (9, -8)


20.  (-2, -1), (2, -1)
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